Verkmenntaskolinn
a Akureyri

AEfing 4.2D 1. Diffrid follin
a) f{x]=(x2+x)h
¢) f(x)=+3x-2
. 3
e) j'(xj=|3x5+x
2. Diffrid follin
2 5
a) f(.r}:(x +-=1~x-E]
¢) f(x)=(3x+5)(x? +4x-8)

5

-3
e) f{x}:(rz +4x—R]
3. Diffrid follin
a) f[x}:{xz +24x - ?}3

22 +1

c) fix)=

¢) f(x}=x-(x2+|)- x2 41
4. Diffrid fillin

a) f=vx’—1

9 fx=|x7-1

O f0)=(Vrri+1)’

Efing 4.3A 1. Diffrid follin

a) f(x)=sin(2x) b) f(x)=cos(~x)
e}y fi{x}= cos{xz}

d) f(x)=cot’(x)
2. Diffrid f6llin

1
sin{ x)

a) flx)=

d) f(x)=cos(x’ -3x+2)

3, Diffrid f5llin
a) f(x)=cos’(x)—sin’(x)
¢) f(x)=sin"(x)—cos*(x)
4. Diffrid fisllin

a) sin{cos(x))

b) fix) =m

b sin” (ms{x}l }

d) ta.n(%) €) cot{tan(%))
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b) f{.rj={x3 +2)
& f)=(1-2Y

N fx)=vx"+x

b) _f(.t}zx-(x3+2]4
d) fx)=(2x-3) (3x+2)

ni F(x)=(2x-3) (3x+2)"

by f(x)=x-va +1

& fx)=(x+24x - x)s

X

f) f{£1=m

b) f(x) =/ﬁ

dy F(x) =+/x +1

£ f(x)= [(x’i " 1)2 + 1]2

c) f(x)=tan”(x)
f) f(x)=cos*(x*)

] &) Fla) ==t

sinf x) - cos(x)

1
xsin(x)-cos{x)

e) fix)=
b) f(x)=cos(2x)+ 2sin*(x)
d) f(x)=tan®(x) - cot®(x)

c) sin (cﬂsz {x])

f) tan’ (sin(x))



